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(1) BMIO FATOODOOOO*?

dat <- read.delim("http://phi.med.gunma-u.ac.jp/medstat/p08.txt")

attach(dat)

plot (BMI,FAT,xlab="Body Mass Index",ylab="00000 (",
main="000000000BMIOOOOOOOOOM

cor.test (BMI,FAT); cor.test(BMI,FAT,method="spearman"); cor.test(BMI,FAT,method="kendall")
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00000000000000000D0DDOOPearson O 0.87 [0.66,0.95]0 Spearman O 0.820 Kendall O 0.72 00
000000000000000000000000000000000 107500 107%000000000000
05%000000000000000000000000D000000000000O0O0O0OD0O0

(2) 0000000 D0OO0O0OOODOOOOOODOD

~
layout (t(1:2))
plot(WT ~ HT,xlab="0O0 (cm)",ylab="00 (kg)",main="00000000000000000000OM
res <- 1m(WT ~ HT)
LHT <- seq(min(HT) ,max (HT),length=20)
matlines (LHT,predict(res,list (HT=LHT),interval="confidence"),lty=c(1,2,2),co0l=0)
plot(residuals(res) ~ fitted.values(res),xlab="00000",ylab="00")
summary (res)
predict(res,list (HT=155) ,interval="confidence")
detach(dat)
J
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0000000000000000000000000000000000000000000000000000
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dat2 <- subset(dat,WT<70,drop=T)

attach(dat2)

res2 <- 1lm(WT ~ HT)

layout (t(1:2))

plot(WT ~ HT,xlab="00 (cm)",ylab="00 (kg)",
main="000000000000O0O0OOOOOO")

LHT <- seq(min(HT) ,max(HT),length=20)

matlines (LHT,predict(res2,list (HT=LHT) ,interval="confidence"),1lty=c(1,2,2),col=0)
plot(residuals(res2) ~ fitted.values(res2),xlab="00000",ylab="00")

summary (res2)

predict(res2,list (HT=155) ,interval="confidence")
detach(dat?2)
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it09-1.R
x<-seq(0,1,by=0.01)

y<-dbinom(2,20,x)

plot(x,y,type="1")

# 00000000000 3000000 curve(dbinom(2,20,x),0,1) O OK
x [which.max(y)]
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Op=0100000200000000000000000000 20000000dbinom(2,20,0.1) 0000
285%000000000000000000 p=070000200000000000000000000 200
0000000 36x1078000000000MM0O000000%%00000000000000000000O0O
00000000000000000000000009%%00000000000000000

000000000000 +000b00bO0bODOO0D000 2000000000000 00D00000O000O0O00ONDO
0000000000000 00o0o0X00ooooooooo p00D0DODOD p <- X/NOOOOOOOOOOOO
00000000009% 00000000 qbinom(0.025,N,p)/N 00000 gbinom(0.975,N,p)/NO 0000
gooodoobo0oUoDbOo0DbDOo0Ooo02000000000D000DO00DOO0O0ODOU0ODO0ODODUODOUODONDOO
000000000000000000000000000000O0000000000000000 9%%00000
0000 9%%00000000000000000000000000000000O0O00

R O O OClopper CJ, Pearson ES: The use of confidence or fiducial limits illustrated in the case of the binomial.
Biometrika, 26: 404-413,1934. 000 00000000000000000ODOO0ODOOOOOOODOOOOOOOO
0000000 00000000000000000D00000D0000 9%%00000000000000000
binom.test(X,N,p) OOO0ONOOOD XOOOOOOOODOOOOODOO pO0O00O0OO0OOOOOOOOOOOO
0000000p==X/N0O00 p-value=1 000000000 Clopper and Pearson 000000 9%5%000000
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000 NMOOp0 2000 B(N,p) DONOOOODDOO0O Npdd O Np(1—p)DOOO0 N(Np, Np(1—p))
00000000000000000 N=100,p=0200000000000000000

ii <- barplot(dbinom(0:40,100,0.2))
lines(ii,dnorm(0:40,20,4),col="red")

000000000000 09%% 000000000 £0000x 1.9600000 gnorm(0.975) OO0 1.9599...
000000000o0ooooooooooooooo

Prob[—1.96 < (X — Np)//Np(1 — p) < 1.96] = 0.95

0000 p =X/NOOOODODODOOOOo

Prob[p* — 1.96/p*(1 — p*)/N < p < p* 4+ 1.96+/p*(1 — p*)/N] = 0.95

*SROODO000000 binom.test 100000000000 00000ODO0OOOOO
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binom.test(5,25,0.2) 0000 [0.068,0407 00000000 O0ODODOODODODODODOODODOODOOO
000000.2-gnorm(0.975)*sqrt (0.2*0.8/25) 0 O 0.04300.2+gnorm(0.975) *sqrt (0.2%0.8/25) 0 O 0.357
000000[0.043,0.357]0 95%000000000000000000000000O00O0O0O binom.test() OO
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0 0 dbinom(480,900,0.5) + dbinom(481,900,0.5) + ... + dbinom(900,900,0.5) 00000000000
0O000001-pbinom(479,900,0.5) 000000042000 0000000000000000000000
pbinom(420,900,0.5) 000000000000 DO0OOOOOOOOOO

C( 1-pbinom(479,900,0.5))+pbinom(420,900,0.5) ]

00000000000 0.04916. 0000000000 5%000000000000000*0
000000000000 01-pbinom(479,900,1.06/(1.06+1))+pbinom(446,900,1.06/(1.06+1)) 000 OO
0000446 00000000000000000 900%1.06/(1+1.06) 00 4630 00048000000000000
0000000000000I0 0271 0000000000 5%00000000000000000000000
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*6 binom.test(480,900,0.5) 00 IDOO0 p-value DO O ODOO
il binom.test(480,900,1.06/(1.06+1)) 00000 O0OOO



00000000000000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000000000000
00000000000000000000000000000000000000
000000000000000 n000004i0000000000000 Q000000 E;000000
X2 =3(0; - E)?/E; 00000 »—-1000000000000000000000000000000000
00000000000000000000000000000000000FK;0100000000000000
000000000000000000000000000000000)?000000000000000000
0000000000 O0000 x?00000000000000000000000000000000O0
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000000000000000000000000000000000000000000000

ROODOD 10000000000000000000O00 curve(dchisq(x,1),0,5) 00000002001
0000000000 1-pchisq(1,1) 0000000 03170000 O00000000 0000000000
O0000OROO dehisq(x,n) 000000002 >000000 f,(x) =1/27/2T(n/2))2z"/2~D exp(—z/2) O
000002000 2n0000000000 (degree of freedom; d.f.) 00 00000000000000000
000000000000000000000000000000000000000 Y, E;000 Y0,00000
O00O0E, 00 E, , 00000 E,0000000000000000n7-10000
00000000000000000000000000000000000000000000MM000000
x> O OX <- (480-450)°2/450+(420-450)"2/450 1000000000 D0OO0OD 100000000000
OORDO 1-pchisq(X,1) 0000000000000 O0D0OO0O0O00O0 900000 480000000000
000000000000000000000000000000000000.0455..00000000000000
5%000000000000000000000000000000000000000

EM <- 900%1.06/2.06

EF <- 900%1/2.06

X <- (480-EM) ~2/EM+(420-EF) “2/EF
1- pchisq(X,1)

000000000 0260000000000000000000 9000 4800000000000 26%0000
oooooooooooooooooo

0000000900000 480000000000000000000000 9%%%000000000000R
Console 100000000000 O0O([1.0005,1.3059]000000000*0

res <- binom.test(480,900,480/900)

res$conf.int/(1-res$conf.int)
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(0x794+1x614+2x13+3x1+4x1)
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000000000 Enhd00O00O00OO0ODODOO0OO0ODODODOO0OODOOODOODODODOODDOODOODO
it09-3.RO0000OOCO0DODOO0ODODOO0OMm

it09-3.R

cc <- 0:4

hh <- c(79,61,13,1,1)

names (hh) <- cc

print (Ehh <- sum(cc*hh)/sum(hh))

barplot (hh)

0000100000000 0D0 Erh 0000000 OC0OCOOOODOUOOODODOOO400000 eppO
epp <- dpois(cc,Ehh)*sum(hh) 000000

O00000X <- sum((hh-epp)~2/epp) OO0 O OODOODOODOOODOODOOO 3000000050000
goooooooooooooooobooOooogooggs—-1—-1=3000000000ODODOOOOO
1-pchisq(X,3) 0 0.0 00 0000000000000 0O00O0O0O0O0O0O0O0OO0O0O0OO0O0O0O0O0

epp(5]0 0000 Oepplce==4] 00 UODDOOOOU0OOOOOO0OOODODOOOUOUODODODOD100DODODOO
0000000000000000000000*°00000eppl5] 0 eppl4]l 000000

ooo

ep <- epplcc<4]
ep[4] <- epl4]l+eppl5]

ooboOooboodno ep0nn

h <- hh[cc<4]
h[4] <- h[4]+hh[5]

gobooobooo0onboOoOoon

O00XX <- sum((h-ep)~2/ep) 000000000000 1-pchisq(XX,2) 000000000000 1000
0000000 10002000000 0187r000000000C00000O0COOO0OO0OOOOOOO0OO0OOOOO0O0
0000000000000 0000000000D00000DO00O00D 1% 0M 0000000 0o0ooooo
gobbooobooobooooooooooooDo
ROOOODOOOOOOOOOOOOOOOOODOOOOOOOOOOOOOOOOOOOoODoOO

[chisq. test(as.table(h) ,,p=ep/sum(ep) ,correct=F) ]
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gooooooobooooooooooboboooobOobObOoOoobobObOooOobobbOoOoobObOboobobOboooooboDOo
ks.test(h,ep) 00 0000000000000 DOO0O0DOO0OO0O0O0DOOOOO0O0O0OOOOOOO0OOOOOOO
000 5%00000000000000000000000000000000D000D0000O0O0OOOOO
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it09-4.R
h <- c(137,163,137,138,168,157)
X <- sum((h-150)"2/150)
1-pchisq(X,4)
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000000 py,p, 000000000 1 =ri/m,p2 =r2/n, 0000000000000000000000
(pr—p2)000000000E(p —p2) =p1 —p2, V(P1 —P2) =p1(1 —p1)/n1 +p2(1 —p2)/n 00000000
0000000000 0p; =p,=p0000000000V (5, —p2)=p(l-p)(1/n1+1/np) 000000 pO0O
D00000p=(r+72)/(n1+n2) 0000G=1-p00000nip; 0 nap, 0000 500000000000
gooooooooo
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00000000000 0000000 10000000 10000000000000400020000000000
000 20000000000000000000000D0004t09-5.RO00000000000000 M
it09-5.R
p <- (40+20)/(100+100)

q < 1-p
Z <- (abs(40/100-20/100)-(1/100+1/100)/2)/sqrt (p*q*(1/100+1/100))
2% (1-pnorm(Z))

1100 Z00ODOODODOOOOOO0OO0000000000000000000000000000000000000000000000
p1>p2 0000000 Z>000000p1<p2000 (000 Z<0ODODODOOODODDOO0O0O0ODODDOOO0ODODODOOOOOO
0000 zZz>00000000000000 20000000

_ P =p2l = (A/n1 +1/n2)/2
pd(1/n1 + 1/n2)
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dif <- 40/100-20/100

vardif <- 40/100%(1-40/100)/100+20/100%(1-20/100)/100

difL <- dif - gnorm(0.975)*sqrt(vardif)

difU <- dif + gqnorm(0.975)*sqrt(vardif)
cat("ODODODODOOOOOO=",dif," 9530000= [",difL,",",difU,"]\n")

000[0.076,0.324 00000000000 000D00000000000000000 (1/ny + 1/ng)/2 =
(1/100+1/100)/2 =0.01000000000000000095%00000 [0.066,0.334] 0000
ROODDODOOOO0O0OO0OO0D0000O0O000O prop.test() 00000000000000000000O0O0
0ooooo

smoker <- c(40,20)
pop <- ¢(100,100)
prop.test (smoker,pop)

000000000000000000000*20009%000000000000000000000000
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prop.test) 00000000 O0OO0OMIOOOOO0OODOUOOOOOOOODOUOOOODOODOOOOOOO
oobooooooooooooooooooooooooooooooooooooooooooOooOoO0O00000A0
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disease <- ¢(7,19,24)

total <- c(120,143,160)
prop.test(disease,total)

pairwise.prop.test(disease,total)

score <- ¢(1,2,3)

prop.trend.test(disease,total,score)

# prop.trend.test(000O0O0O, OO0OO0O, OOOOOOOOOOO)

%
00000000000000D00000 prop.test() 0000000000000 0O0O0DO0OOOOOODOO
00 5%000000000000000000000000000005%000000000000000000
00000000000 000000000000000000000000000000000000000000
0000000000000 000000000100000000000000000000 ?prop.trend.test
0000000 ooooooo*so

120000000000 0000000000000000000000000000000000000000000000000000
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goooooooooooOoOoOoO0oO0oO0oO0o0booooOoOooOoO0oO0oO0OO0O0OO0OO0O0oO0O0ooooOO00000000000O0b0O0O000O0000O00
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ritOQ-G.R ™
smoker <- c(42,242,122)
names (smoker) <- c("OO","O0O","O0O™")
pop <- c(214,658,327)
crosstab <- rbind(smoker,pop-smoker)
rownames (crosstab) <- c("OOO","0DOOO™")

print(crosstab)

par (mfrow=c(1,2))
barplot(crosstab,legend=T,main="0000000")

barplot (crosstab/rbind(pop,pop),legend=T,main="0000000")
par (mfrow=c(1,1))

prop.test (smoker,pop)

# 000000 chisq.test(crosstab) 00000

pairwise.prop.test (smoker,pop)
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